

14370 Collier Blvd., Naples, FL 34119 Phone: 239.643.4471 • Fax: 239.643.3025 E-mail: service@greenscapesfl.com

Proposal

To: Baycrest Homeowners Association 8910 Terrene Court Ste 200 Bonita Springs, Fl 34135

Reference

Irrigation Audit 2015 - Part 1

Proposal: 79037 Date: 01/12/15

Service Representative

Irrigation Sales

Qty		Units	Price	Extende
	This proposal has been created as the result of a comprehensive irrigation audit. The following renovations are suggested in order to improve coverage in turf and landscape beds, give better and more efficient distribution of water and in some cases lower water usage.			
	Clock - Clubhouse:			
	Zone #1 - east of entry walkway			
	Relocate 2 sprays to improve coverage. Remove all heads in bed areas and install dripline to avoid over spray on paver walkway. Add 2 new 6" sprays to improve coverage.			
8.00	1/2" SXT 90 Elbow	Each	0.60	\$4.8
8.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.6
35.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$22.0
4.00	HUNT PROS-06	Each	10.50	\$42.0
4.00	Hunter MP1000 90-210 Rotator Nozzle	Each	8.75	\$35.0
485.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$266.7
20.00	1/2" Threaded Cap	Each	0.98	\$19.6
1.00	1" Wye Strainer w/ 150 Mesh Screen for Drip	Each	23.55	\$23.5
10.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$5.5
25.00	Insert Tee for Techline Drip	Each	0.53	\$13.2
2.00	Air & Vacuum Relief Valve for Hunter Dripline	Each	11.25	\$22.:
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.:
	(Subtotal for Clubhouse Zone #1: \$839.10 + tax)			
	Zone #2 - west of entry walkway			
	Relocate 2 sprays to improve coverage. Remove all heads in bed areas and install dripline to avoid over spray on paver walkway and windows. Add 2 new 6" sprays to improve coverage.			
8.00	1/2" SXT 90 Elbow	Each	0.60	\$4.8
8.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.6
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.9
2.00	3/4" PVC Tee	Each	0.87	\$1.
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.2

Proposal: 79037

			1	
To:	Baycrest Homeowners Association			
4.00	HUNT PROS-06	Each	10.50	\$42.00
4.00	Hunter MP1000 90-210 Rotator Nozzle	Each	8.75	\$35.00
20.00	1/2" Threaded Cap	Each	0.98	\$19.60
400.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$220.00
10.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$5.50
25.00	Insert Elbow for Techline Drip	Each	0.50	\$12.50
25.00	Insert Tee for Techline Drip	Each	0.53	\$13.25
1.00	1" Wye Strainer w/ 150 Mesh Screen for Drip	Each	23.55	\$23.55
2.00	Air & Vacuum Relief Valve for Hunter Dripline	Each	11.25	\$22.50
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.50
	(Subtotal for Clubhouse Zone #2: \$825.64 + tax)			
	Zone #3 - around pool fence			
	Remove 2 sprays from zone.			
	Replace 4" heads with new 6" sprays, with MP nozzles.			
	Remove all heads in bed area around pool to avoid overspray on pool deck and			
	install dripline.			
	Change 1" valve to 1.5" valve to allow greater flow rate due to amount of dripline.			
1.00	1-1/2" Hunter PGV Zone Valve	Each	87.00	\$87.00
2.00	1 1/2" Male Adapter	Each	1.43	\$2.86
1.00	1" Slip-Fix Coupling	Each	8.97	\$8.97
2.00	Class 200 1" PVC BE Pipe	LnFt.	0.60	\$1.20
25.00	1/2" Threaded Cap	Each	0.98	\$24.50
1,900.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$1,045.00
1.00	1" Wye Strainer w/ 150 Mesh Screen for Drip	Each	23.55	\$23.55
50.00	Insert Elbow for Techline Drip	Each	0.50	\$25.00
75.00	Insert Lee for Techline Drip	Each	0.53	\$39.75
15.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$8.25
8.00	HUNT PROS-06	Each	10.50	\$84.00
8.00	Hunter MP1000 90-210 Rotator Nozzle	Each	8.75	\$70.00
4.00	Air & Vacuum Relief Valve for Hunter Dripline	Each	11.25	\$45.00
1.00	Hunter MP Side-Strip 5'x30' Rotator Nozzle	Each	9.25	\$9.25
16.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$720.00
	(Subtotal for Clubhouse Zone #3: \$2,194.33 + tax)			
	Zone #4 - north end			
	Replace rotor heads with new 6" sprays with MP nozzles to improve pressure.			
	Add 2 new spray heads with MP nozzles to improve coverage.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
10.00	Hunter MP2000 90-210 Rotator Nozzle	Each	9.25	\$92.50
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
2.00	1/2" PVC Tee	Each	0.63	\$1.26
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
2.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.40
2.00	1/2" Slip-Fix Coupling	Each	7.82	\$15.64
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for Clubhouse Zone #4: \$444.45 + tax)			
	Zone #5 - west side south end:			

	• ,		Ŧ	
To:	Baycrest Homeowners Association			
	Replace rotor heads with new 6" sprays with MP nozles to improve pressue.		ĺ	
	Add 4 new 6" sprays with MP nozzles to improve coverage.			
	Add dripline at corner of walkway.			
	Relocate 2 heads to improve coverage.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
11.00	Hunter MP2000 90-210 Rotator Nozzle	Each	9.25	\$101.75
150.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$94.50
4.00	1/2" Slip-Fix Coupling	Each	7.82	\$31.28
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
11.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$3.08
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
100.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$55.00
1.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$0.55
10.00	Insert Elbow for Techline Drip	Each	0.50	\$5.00
5.00	Insert Tee for Techline Drip	Each	0.53	\$2.65
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for Clubhouse Zone #5: \$682.51 + tax)			
	Zone #6 - east side south end			
	Replace rotor heads with new 6" sprays with MP nozzles to imporve pressure on			
	zone. Add dripline at corner of walkway.			
	Relocate 2 heads to improve coverage.			
	Add 4 new sprays with MP nozzles to improve coverage.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
10.00	Hunter MP1000 90-210 Rotator Nozzle	Each	8.75	\$87.50
150.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$94.50
4.00	1/2" Slip-Fix Coupling	Each	7.82	\$31.28
4.00	1/2" SXT 90 Elbow	Each	0.60	\$2.40
10.00	1/2" X 3/4" X CLOSE Poly Nipple	Each	0.28	\$2.80
4.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$0.80
100.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$55.00
1.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$0.55
5.00	Insert Tee for Techline Drip	Each	0.53	\$2.65
10.00	Insert Elbow for Techline Drip	Each	0.50	\$5.00
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for Clubhouse Zone #6: \$657.48 + tax)			
	Clock - 25200:			
	Zone #1 - front right			
	Remove 1 spray head to eliminate excess coverage.			
	Relocate 10 heads throughout zone to improve coverage.			
	Replace 10- 4" sprays with new 6" sprays to allow heads to clear turf and provide coverage.			
	Replace 3- 4" sprays with new 12" sprays to allow heads to clear shrubs and			
	provide coverage.			
	Add 5 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
20.00	HUNT PROS-06	Each	10.50	\$210.00
3.00	12" Hunter Spray Body	Each	14.75	\$44.25
30.00	1/2" SXT 90 Elbow	Each	0.60	\$18.00
30.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$6.00
120.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$75.60
5.00	1/2" Slip-Fix Coupling	Each	7.82	\$39.10

Proposal: 79037

To:	Baycrest Homeowners Association			
5.00	1/2" PVC Tee	Each	0.63	\$3.15
1.00	1/2" Threaded Cap	Each	0.98	\$0.98
25.00	Half 15FT Hunter Nozzle	Each	1.60	\$40.00
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.50
	Zone #2 - left front and rear			
	Remove 1 spray head to elminate excess coverage. Relocate 5 sprays to improve coverage. Replace 8- 4" sprays with new 6" sprays to allow proper coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
22.00	1/2" SXT 90 Elbow	Each	0.60	\$13.20
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
3.00	3/4" PVC Tee	Each	0.87	\$2.61
1.00	1/2" Threaded Cap	Each	0.98	\$0.98
6.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$292.50
	(Subtotal for 25200 Zones 1-2: \$1,309.22 + tax)			
	Clock 25202:			
	Zone #1 - rear (rotors)			
	Install dripline in place of existing spray heads. Add 2 new rotor heads.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
2.00	3/4" SXT 90 Elbow	Each	0.70	\$1.40
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
2.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.66
70.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$105.00
85.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$46.75
1.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$0.55
5.00	Insert Tee for Techline Drip	Each	0.53	\$2.65
8.00	Insert Elbow for Techline Drip	Each	0.50	\$4.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	Zone #2 - rear and right of entry:			
	Replace 1 rotor head with 1 new 6" spray. Relocate 2 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to allow proper coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
13.00	Half 15FT Hunter Nozzle	Each	1.60	\$20.80
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
90.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$56.70
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
1.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.33
6.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$292.50
	Zone #3 - left side and front			

			1	
To:	Baycrest Homeowners Association			
	Replace 5 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays to allow proper coverage.			
	Add 5 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
18.00	Half 15FT Hunter Nozzle	Each	1.60	\$28.80
20.00	1/2" SXT 90 Elbow	Each	0.60	\$12.00
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
5.00	3/4" PVC Tee	Each	0.87	\$4.35
15.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.00
100.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$63.00
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for 25202 Zones 1-3: \$1,374.33 + tax)			
	Clock 25210:			
	Zone #1 - front and right side			
	Relocate 5 sprays to improve coverage.			
	Replace 11- 4" sprays with new 6" sprays to allow proper coverage. Replace 2- 4" sprays with new 12" sprays to allow proper coverage. Add 5 new 6" sprays to improve coverage.			
16.00	HUNT PROS-06	Each	10.50	\$168.00
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
19.00	Half 15FT Hunter Nozzle	Each	1.60	\$30.40
15.00	1/2" SXT 90 Elbow	Each	0.60	\$9.00
5.00		Each	7.95	\$9.00
5.00	3/4" Slip-Fix Coupling 3/4" PVC Tee	Each	0.87	\$4.35
		Each		
15.00	1/2" X CLOSE Poly Nipple		0.20	\$3.00
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
6.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$292.50
	Zone #2 - left front and side			
	Remove 1 spray head to reduce excess coverage. Relocate 9 sprays to improve coverage. Replace 13- 4" sprays with new 6" sprays to allow proper coverage. Add 5 new 6" sprays to improve coverage. Add 1 bubbler to allow proper coverage.			
1.00	1/2" Threaded Cap	Each	0.98	\$0.98
18.00	HUNT PROS-06	Each	10.50	\$189.00
22.00	Half 15FT Hunter Nozzle	Each	1.60	\$35.20
24.00	1/2" SXT 90 Elbow	Each	0.60	\$14.40
6.00	3/4" Slip-Fix Coupling	Each	7.95	\$47.70
6.00	3/4" PVC Tee	Each	0.87	\$5.22
1.00	Adjustable Flood Bubbler	Each	2.28	\$2.28
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
7.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$337.50
	Zone #3 - rear (rotors)			
	Replace 4 rotors to allow matched persipitation rate. Relocate 4 rotors to improve coverage.			
	Add 2 new rotors to allow proper coverage.			
6.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$131.70
10.00	3/4" SXT 90 Elbow	Each	0.70	\$7.00
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
			1	1
2.00	3/4" PVC Tee	Each	0.87	\$1.74

	•		1	
To:	Baycrest Homeowners Association			
120.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$180.00
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25210 Zones 1-3: \$1,790.52 + tax)			
	Clock #25212:			
	Zone #1 - center front			
	Relocate 9 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to allow proper coverage. Add 9 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
14.00	HUNT PROS-06	Each	10.50	\$147.00
18.00	Half 15FT Hunter Nozzle	Each	1.60	\$28.80
27.00	1/2" SXT 90 Elbow	Each	0.60	\$16.20
9.00	3/4" Slip-Fix Coupling	Each	7.95	\$71.55
9.00	3/4" PVC Tee	Each	0.87	\$7.83
27.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.40
140.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$88.20
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.50
	Zone #2 - rear (rotors)			
	Replace 1 spray head with dripline.			
	Relocate 3 rotor heads to improve coverage. Add 2 new rotor heads to improve coverage.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
8.00	3/4" SXT 90 Elbow	Each	0.70	\$5.60
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
2.00	3/4" PVC Tee	Each	0.87	\$1.74
8.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$2.64
130.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$195.00
85.00	1.0 GPH Hunter Dripline w/ 12" Centers	Ft.	0.55	\$46.75
1.00	1/2" Insert Male Adapter for Techline Drip	Each	0.55	\$0.55
5.00	Insert Tee for Techline Drip	Each	0.53	\$2.65
8.00	Insert Elbow for Techline Drip	Each	0.50	\$4.00
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25212 Zones 1-2: \$1,238.26+ tax)			
	Clock 25220:			
	Zone #1 - rear (rotors)			
	Replace 3 rotors to provide proper precipitation rate. Relocate 1 rotor to improve coverage. Add 2 new rotors to improve coverage.			
5.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$109.75
4.00	3/4" SXT 90 Elbow	Each	0.70	\$2.80
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
2.00	3/4" PVC Tee	Each	0.87	\$1.74
4.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$1.71
100.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$150.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$120.00
2.50	Zone #2 - right front and side	11000	15.00	φ112.50
	Relocate 5 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays.			
	Add 4 new 6" sprays to improve coverage.			

Proposal: 79037

	······································		-1	
To:	Baycrest Homeowners Association			
10.00	HUNT PROS-06	Each	10.50	\$105.00
15.00	Half 15FT Hunter Nozzle	Each	1.60	\$24.00
14.00	3/4" SXT 90 Elbow	Each	0.70	\$9.80
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
4.00	3/4" PVC Tee	Each	0.87	\$3.48
14.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.80
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	(Subtotal for 25220 Zones 1-2: \$820.64 + tax)			
	Clock 25222:			
	Zone #1 - center front			
	Relocate 5 sprays to improve coverage.Replace 1- 4" spray with new 6" spray to allow proper coverage.Replace 8- 4" sprays with new 12" sprays.Add 5 new 6" sprays to improve coverage.Add 3 bubblers to allow proper coverage.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
18.00	Half 15FT Hunter Nozzle	Each	1.60	\$28.80
18.00	3/4" SXT 90 Elbow	Each	0.70	\$12.60
8.00	3/4" Slip-Fix Coupling	Each	7.95	\$63.60
8.00	3/4" PVC Tee	Each	0.87	\$6.96
18.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.60
115.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$72.45
3.00	Adjustable Flood Bubbler	Each	2.28	\$6.84
6.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$292.50
	Zone #2 - rotors - zone is acceptable			
	(Subtotal for 25222 Zones 1-2: \$602.85 + tax)			
	Clock #25224:			
	Zone #1 - rear (rotors)			
	Relocate 1 rotor to improve coverage.			
	Add 1 new rotor to improve coverrage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
3.00	3/4" SXT 90 Elbow	Each	0.70	\$2.10
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
1.00	3/4" PVC Tee	Each	0.87	\$0.87
3.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.99
60.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$90.00
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	Zone #2 - left front and side			
	Remove 2 spray heads to reduce excess coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 9 new 6" sprays to improve coverage.			
2.00	1/2" Threaded Cap	Each	0.98	\$1.96
13.00	HUNT PROS-06	Each	10.50	\$136.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
29.00	1/2" SXT 90 Elbow	Each	0.60	\$17.40
9.00	3/4" Slip-Fix Coupling	Each	7.95	\$71.55
2.00	or only in contring	Laon		ψ/1.55

Proposal: 79037

			-1	
To:	Baycrest Homeowners Association			
9.00	3/4" PVC Tee	Each	0.87	\$7.83
29.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.80
200.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$126.00
24.00	Half 15FT Hunter Nozzle	Each	1.60	\$38.40
8.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$360.00
	(Subtotal for 25224 Zones 1-2: \$986.30 + tax)			
	Clock #25230:			
	Zone #1 - right front and side			
	Relocate 5 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to improve coverage. Add 7 new 6" sprays to improve coverage.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
15.00	Half 15FT Hunter Nozzle	Each	1.60	\$24.00
17.00	1/2" SXT 90 Elbow	Each	0.60	\$10.20
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
7.00	3/4" PVC Tee	Each	0.87	\$6.09
17.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.40
130.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$81.90
6.00	Discounted Irrigation Labor Rate (per man-hour) Zone #2 - left front and rear	Hour	45.00	\$270.00
	Relocate 6 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Add 1 bubbler to provide proper coverage.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
12.00	Half 15FT Hunter Nozzle	Each	1.60	\$19.20
15.00	1/2" SXT 90 Elbow	Each	0.60	\$9.00
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
3.00	3/4" PVC Tee	Each	0.87	\$2.61
15.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.00
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
1.00	Adjustable Flood Bubbler	Each	2.28	\$2.28
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	Zone #3 - rear (rotors)			
	Relocate 1 rotor head to improve coverage.			
2.00	3/4" SXT 90 Elbow	Each	0.70	\$1.40
25.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$37.50
1.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$45.00
	(Subtotal for 25230 Zones 1-3: \$1,001.88 + tax)			
	Clock #25232:			
	Zone #1 - center front			
	Relocate 3 sprays to improve coverage. Replace 1- 4" spray with new 6" spray to improve coverage. Replace 7- 4" sprays with new 12" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Add 1 bubbler to allow proper coverage.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
7.00	12" Hunter Spray Body	Each	14.75	\$103.25
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
10.8 of 24				

Proposal: 79037

	······································		- I	
To:	Baycrest Homeowners Association			
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
3.00	3/4" PVC Tee	Each	0.87	\$2.61
9.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.80
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
1.00	Adjustable Flood Bubbler	Each	2.28	\$2.28
3.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$146.25
	Zone #2 - rear (rotors)			
	Replace 1 rotor head to provide matched presipitation rate.			
	Relocate 1 rotor to improve coverage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
1.00	3/4" SXT 90 Elbow	Each	0.70	\$0.70
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
1.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.33
30.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$45.00
1.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$45.00
	(Subtotal for 25232 Zones 1-2: \$470.24 + tax)			
	Clock #25234:			
	Zone #1 - right front and side			
	Relocate 8 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Replace 1- 4" spray with new 12" spray to improve coverage.			
	Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
21.00	1/2" SXT 90 Elbow	Each	0.60	\$12.60
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
21.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.20
115.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$72.45
23.00	Half 15FT Hunter Nozzle	Each	1.60	\$36.80
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
7.00	Zone #2 - rear (rotors)	Tiour	15.00	\$515.00
	Relocate 1 rotor to improve coverage. Add 1 rotor to improve coverage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
1.00	3/4" SXT 90 Elbow	Each	0.70	\$0.70
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
1.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.33
30.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$45.00
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
1.50	Discounted milgarion Europi nate (per main nour)	Tiour	15.00	\$07.50
	(Subtotal for 25234 Zones 1-2: \$738.70 + tax)			
	Clock #25240:			
	Zone #1 - rear (rotors)			
	Replace 1 rotor head to improve coverage.			
	Relocate 1 rotor to improve coverage.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95

1.00	Baycrest Homeowners Association 3/4" SXT 90 Elbow	Each	0.50	
	3/4" SXT 90 Elbow	Fach	0.50	
		Luch	0.70	\$0.70
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
1.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.33
30.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$45.00
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	Zone #2 - right front and side			
8.00 1.00	Relocate 10 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to improve coverage. Replace 1- 4" spray with new 12" spray to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles. HUNT PROS-06 12" Hunter Spray Body	Each Each	10.50 14.75	\$84.00 \$14.75
24.00	1/2" SXT 90 Elbow	Each	0.60	\$14.40
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
24.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.80
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
20.00	Half 15FT Hunter Nozzle	Each	1.60	\$32.00
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
	(Subtotal for 25240 Zones 1-2: \$713.83 + tax)			
	Clock #25242:			
	Zone #1 - center front			
	Relocate 3 sprays to improve coverage. Replace 6- 4" sprays with new 12" sprays to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
6.00	12" Hunter Spray Body	Each	14.75	\$88.50
14.00	Half 15FT Hunter Nozzle	Each	1.60	\$22.40
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
4.00	3/4" PVC Tee	Each	0.87	\$3.48
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
9.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.80
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	Zone #2			
	Relocate 1 rotor to improve coverage.			
2.00	3/4" SXT 90 Elbow	Each	0.70	\$1.40
2.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.66
30.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$45.00
0.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$33.75
	(Subtotal for 25242 Zone #1-2: \$475.54 + tax)			
	Clock #25244:			
	Zone #1 - left front and side			

To:	Baycrest Homeowners Association			
	Relocate 7 sprays to improve coverage.			
	Replace 7- 4" sprays with new 6" sprays to improve coverage.			
	Add 6 new 6" sprays to improve coverage.			
10.00	Replace all Van nozzles with Fixed Pattern nozzles.	- 1	10.50	112 (5 0
13.00	HUNT PROS-06	Each	10.50	\$136.50
20.00	1/2" SXT 90 Elbow	Each	0.60	\$12.00
6.00	3/4" PVC Tee	Each	0.87	\$5.22
6.00	3/4" Slip-Fix Coupling	Each	7.95	\$47.70
20.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.00
19.00	Half 15FT Hunter Nozzle	Each	1.60	\$30.40
105.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$157.50
8.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$382.50
	Zone #2 - rear (rotors)			
	Relocate 1 rotor to improve coverage. Add 1 new rotor.			
1.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$21.95
3.00	3/4" SXT 90 Elbow	Each	0.70	\$2.10
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
3.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.99
50.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$75.00
1.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$67.50
	(Subtotal for 25244 Zone #1-2: \$952.18 + tax)			
	Clock #25250:			
	Zone #1 - front			
	Relocate 5 sprays to improve coverage. Replace 3- 4" sprays with new 6" sprays to improve coverage. Replace 1- 4" spray with new 12" spray to improve coverage. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
20.00	Half 15FT Hunter Nozzle	Each	1.60	\$32.00
11.00	1/2" SXT 90 Elbow	Each	0.60	\$6.60
7.00	3/4" PVC Tee	Each	0.87	\$6.09
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
11.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.20
120.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$75.60
7.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$337.50
	Zone #2 - rear (rotors)			
	Relocate 2 rotors to improve coverage. Add 1 new rotor.			
2.00	Replace 2 rotors.	$\mathbf{E} \in \mathcal{A}$	21.05	¢(5.05
3.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$65.85
5.00	3/4" SXT 90 Elbow	Each	0.70	\$3.50
1.00	3/4" PVC Tee	Each	0.87	\$0.87 \$7.05
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95 \$1.65
5.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$1.65 \$112.50
75.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$112.50
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25250 Zone #1-2: \$917.71 + tax)			

To: Baycrest Homeowners Association

	Clock #25252:			
	Zone #1 - right front			
	Relocate 4 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
16.00	1/2" SXT 90 Elbow	Each	0.60	\$9.60
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
4.20	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$189.00
	Zone #2 - left front and side			
	Relocate 4 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
13.00	1/2" SXT 90 Elbow	Each	0.60	\$7.80
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
13.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.60
100.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$63.00
5.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$247.50
	Zone #3 - rear (rotors)			
	Relocate 2 rotors. Add 2 new rotors.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
6.00	3/4" SXT 90 Elbow	Each	0.70	\$4.20
2.00	3/4" PVC Tee	Each	0.70	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
6.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$1.98
120.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$180.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25252 Zone #1-3: \$1,240.56 + tax)			
	Clock #25260:			
	Zone #1 - right front			
	Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 1- 4" spray with new 12" spray to improve coverage. Add 1 new 6" spray to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
11.00	1/2" SXT 90 Elbow	Each	0.60	\$6.60
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
12 624			<u> </u>	

Proposal: 79037

	•		1	
To:	Baycrest Homeowners Association			
11.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #2 - right side and rear			
	Relocate 6 sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
19.00	1/2" SXT 90 Elbow	Each	0.60	\$11.40
7.00	3/4" PVC Tee	Each	0.87	\$6.09
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
19.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.80
140.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$88.20
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	Zone #3 - rear (rotors)			
	Relocate 2 rotors. Add 2 new rotors.			
2.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$43.90
6.00	3/4" SXT 90 Elbow	Each	0.70	\$4.20
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
6.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$1.98
110.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$165.00
2.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$112.50
	(Subtotal for 25260 Zone #1-3: \$1,121.03 + tax)			
	Clock #25262:			
	Zone #1 - front left and side			
	Remove 1 spray. Relocate 9 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
22.00	1/2" SXT 90 Elbow	Each	0.60	\$13.20
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
22.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.40
1.00	1/2" Threaded Cap	Each	0.98	\$0.98
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
	Zone #2 - zone is acceptable			
	Zone #3 - left side and rear			

	Greenscapes of Southwest Florida, Inc.		i ioposai.	19031
To:	Baycrest Homeowners Association			
	Relocate 6 sprays to improve coverage.			
	Add 3 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
3.00	HUNT PROS-06	Each	10.50	\$31.50
14.00	Half 10FT Hunter Nozzle	Each	1.60	\$22.40
15.00	1/2" SXT 90 Elbow	Each	0.60	\$9.00
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
15.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	(Subtotal for 25262 Zone #1-3: \$933.07 + tax)			
	Clock #25270:			
	Zone #1 - right front			
	Relocate 11 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
25.00	1/2" SXT 90 Elbow	Each	0.60	\$15.00
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
25.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$5.00
115.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$72.45
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
7.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$337.50
	Zone #2 - right side and rear			
	Relocate 6 sprays to improve coverage. Replace 1- 4" spray with new 6" spray to improve coverage. Replace 1- 4" spray with new 12" spray to improve coverage. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
4.00	HUNT PROS-06	Each	10.50	\$42.00
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
15.00	1/2" SXT 90 Elbow	Each	0.60	\$9.00
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
15.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	(Subtotal for 25270 Zone #1-2: \$981.59 + tax)			
	Clock #25272:			
	Zone #1 - front center and rear			
	Relocate 4 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Replace 1- 4" spray with new 12" spray to improve coverage. Add 2 new 6" sprays to improve coverage. Add 1 new bubbler.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
14 of 24	- Tunto oping Doug	Lacii	17.75	ψ17.75

Proposal: 79037

			1	
To:	Baycrest Homeowners Association			
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
10.00	1/2" SXT 90 Elbow	Each	0.60	\$6.00
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
10.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.00
55.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$34.65
1.00	Adjustable Flood Bubbler	Each	2.28	\$2.28
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00
	(Subtotal for 25272 Zone #1: \$380.62 + tax)			
	Clock #25274:			
	Zone #1 - front right and side			
	Relocate 3 sprays to improve coverage. Replace 2 - 4" sprays with new 6" sprays to improve coverage. Replace 1 - 4" spray with new 12" spray to improve coverage. Add 4 new 6" sprays to improve coverage.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
1.00	12" Hunter Spray Body	Each	14.75	\$03.00 \$14.75
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
10.00	1/2" SXT 90 Elbow	Each	0.60	\$6.00
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
10.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.20	\$2.00 \$47.25
4.50	Discounted Irrigation Labor Rate (per man-hour)	Ft. Hour	45.00	\$47.23
4.50	Zone #2 - left side and rear	noui	45.00	\$202.30
	Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 2 new 6" sprays to improve coverage.			
7.00	HUNT PROS-06	Each	10.50	\$73.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
12.00	1/2" SXT 90 Elbow	Each	0.60	\$7.20
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
12.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.40
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
3.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$146.25
	(Subtotal for 25274 Zone #1-2: \$734.67 + tax)			
	Clock #25280:			
	Zone #1 - right side and front			
	Relocate 3 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with new 12" sprays to improve coverage. Add 3 new 6" sprays to improve coverage.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	J/T 1 YO 100	Each	0.07	φ2.01

Proposal: 79037

			- F	
To	: Baycrest Homeowners Association			
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
9.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.80
30.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$18.90
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	Zone #2 - side and rear			
	Relocate 4 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 6 new 6" sprays to improve coverage.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
14.00	1/2" SXT 90 Elbow	Each	0.60	\$8.40
6.00	3/4" PVC Tee	Each	0.87	\$5.22
6.00	3/4" Slip-Fix Coupling	Each	7.95	\$47.70
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
5.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$225.00
	(Subtotal for 25280 Zone #1-2: \$835.48 + tax)			
	Clock #25282:			
	Zone #1 - front center and rear			
	Relocate 4 sprays to improve coverage. Replace 10- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
14.00	HUNT PROS-06	Each	10.50	\$147.00
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
12.00	1/2" SXT 90 Elbow	Each	0.60	\$7.20
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
12.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.40
80.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$50.40
4.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$191.25
	(Subtotal for 25282 Zone #1: \$462.33 + tax)			
	Clock #25284:			
	Zone #1 - front right and side			
	Relocate 3 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Replace 1- 4" sprays with new 12" sprays to improve coverage. Add 3 new 6" sprays to improve coverage.			
9.00	HUNT PROS-06	Each	10.50	\$94.50
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
9.00	1/2" SXT 90 Elbow	Each	0.60	\$5.40
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
9.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.80
50.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$31.50
2.75	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$123.75
	Zone #2 - front left and rear			

	Greenscapes of Southwest Florida, Inc.		i toposai.	17051
To:	Baycrest Homeowners Association			
	Relocate 7 sprays to improve coverage.			
	Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 4 new 6" sprays to improve coverage.			
8.00	HUNT PROS-06	Each	10.50	\$84.00
15.00	Half 10FT Hunter Nozzle	Each	1.60	\$24.00
18.00	1/2" SXT 90 Elbow	Each	0.60	\$10.80
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
18.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.60
95.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$59.85
4.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$191.25
	(Subtotal for 25284 Zone #1-2: \$730.94 + tax)			
	Clock #25290:			
	Zone #1 - front right and side			
	Relocate 7 sprays to improve coverage.			
	Replace 6- 4" sprays with new 6" sprays to improve coverage.			
10.00	Add 4 new 6" sprays to improve coverage.	E . 1	10.50	¢105.00
10.00	HUNT PROS-06	Each	10.50	\$105.00
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
18.00	1/2" SXT 90 Elbow	Each	0.60	\$10.80
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
18.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.60
85.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$53.55
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
	Zone #2 - right side and rear			
	Relocate 6 sprays to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Replace 3- 4" sprays with new 12" sprays to improve coverage.			
12.00	Add 4 new 6" sprays to improve coverage. HUNT PROS-06	Each	10.50	\$126.00
3.00	12" Hunter Spray Body	Each	14.75	\$120.00
14.00	Half 10FT Hunter Nozzle	Each	14.75	\$44.23
16.00	1/2" SXT 90 Elbow	Each		\$22.40
			0.60	
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
90.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$56.70
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for 25290 Zone #1-2: \$1,119.46 + tax)			
	Clock #25292:			
	Zone #1 - center front and rear			
	Relocate 6 sprays to improve coverage.			
	Replace 8- 4" sprays with new 6" sprays to improve coverage.			
	Replace 3- 4" sprays with new 12" sprays to improve coverage.			
	Add 4 new 6" sprays to improve coverage.			
12.00	HUNT PROS-06	Each	10.50	\$126.00
3.00	12" Hunter Spray Body	Each	14.75	\$44.25
19.00	Half 10FT Hunter Nozzle	Each	1.60	\$30.40
16.00	1/2" SXT 90 Elbow	Each	0.60	\$9.60

Proposal: 79037

To:	Baycrest Homeowners Association			
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
90.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$56.70
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	(Subtotal for 25292 Zone #1: \$575.43 + tax)			
	Clock #25294:			
	Zone #1 - left front and side			
0.00	Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.	Each	10.50	£04.50
9.00 17.00	HUNT PROS-06 Half 10FT Hunter Nozzle	Each	10.50 1.60	\$94.50 \$27.20
17.00	1/2" SXT 90 Elbow	Each	0.60	\$27.20
4.00	3/4" PVC Tee	Each	0.00	\$3.40
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
14.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.80
80.00	1/2" Flexible PVC Pipe	Ft.	0.20	\$50.40
5.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$247.50
5.50	Zone #2 - left side and rear	noui	45.00	\$247.50
	Relocate 7 sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
2.00	HUNT PROS-06	Each	10.50	\$21.00
13.00	Half 10FT Hunter Nozzle	Each	1.60	\$20.80
16.00	1/2" SXT 90 Elbow	Each	0.60	\$9.60
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
60.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$37.80
4.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$191.25
	(Subtotal for 25294 Zone #1-2: \$767.37 + tax)			
	Clock #25300:			
	Zone #1 - right front and side			
	Relocate 5 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Replace 3- 4" sprays with 12" sprays. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
13.00	HUNT PROS-06	Each	10.50	\$136.50
3.00	12" Hunter Spray Body	Each	14.75	\$44.25
20.00	Half 10FT Hunter Nozzle	Each	1.60	\$32.00
17.00	1/2" SXT 90 Elbow	Each	0.60	\$10.20
7.00	3/4" PVC Tee	Each	0.87	\$6.09
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
17.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.40
7.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$337.50
	Zone #2 - right side and rear			

10:	Baycrest Homeowners Association			
	Relocate 1 spray to improve coverage.			
	Replace 4 - 4" sprays with new 6" sprays to improve coverage.			
	Replace 2- 4" sprays with 12" sprays.			
	Add 4 new 6" sprays to improve coverage.			
8 00	Replace all Van nozzles with Fixed Pattern nozzles. HUNT PROS-06	East	10.50	¢94.00
8.00		Each Each	10.50 14.75	\$84.00 \$29.50
2.00	12" Hunter Spray Body Half 10FT Hunter Nozzle	Each	14.75	\$29.50 \$25.60
16.00 6.00	1/2" SXT 90 Elbow	Each	0.60	\$23.60
4.00	3/4" PVC Tee	Each	0.80	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	0.87 7.95	\$31.80
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
65.00	1/2" Flexible PVC Pipe	Each Ft.	0.20	\$1.20
4.75	Discounted Irrigation Labor Rate (per man-hour)	Ft. Hour	45.00	\$40.93 \$213.75
4.75	Discounted imgation Labor Kate (per man-nour)	nou	45.00	\$215.75
	(Subtotal for 25300 Zone #1-2: \$1,059.47 + tax)			
	Clock #25302:			
	Zone #1 - center front and rear			
	Relocate 6 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Replace 1- 4" sprays with 12" sprays.			
	Add 5 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
1.00	12" Hunter Spray Body	Each	14.75	\$14.75
17.00	Half 10FT Hunter Nozzle	Each	1.60	\$27.20
17.00	1/2" SXT 90 Elbow	Each	0.60	\$10.20
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
17.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.40
105.00 6.50	1/2" Flexible PVC Pipe Discounted Irrigation Labor Rate (per man-hour)	Ft. Hour	0.63 45.00	\$66.15 \$292.50
0.50	Discounted imgation Labor Rate (per man-nour)	пош	43.00	\$292.30
	(Subtotal for 25302 Zone #1: \$563.30 + tax)			
	Clock #25304:			
	Zone #1 - front center and rear			
	Relocate 3 sprays to improve coverage.			
	Replace 5- 4" sprays with new 6" sprays to improve coverage.			
	Replace 4- 4" sprays with 12" sprays.			
	Add 1 bubbler.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
4.00	12" Hunter Spray Body	Each	14.75	\$59.00
16.00	Half 10FT Hunter Nozzle	Each	1.60	\$25.60
7.00	1/2" SXT 90 Elbow	Each	0.60	\$4.20
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
7.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.40
25.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$15.75
1.00	Adjustable Flood Bubbler	Each	2.28	\$2.28
4.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$180.00

	(Subtotal for 25304 Zone #1: \$349.55 + tax)			
	Clock #25306:			
	Zone #1 - left front and side			
	Relocate 7 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
18.00	1/2" SXT 90 Elbow	Each	0.60	\$10.80
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	0.87 7.95	\$31.80
18.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$31.80
		Ft.		
95.00	1/2" Flexible PVC Pipe		0.63	\$59.85
7.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$315.00
	Zone #2 - left side and rear			
	Relocate 8 sprays to improve coverage. Replace 11- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
15.00	HUNT PROS-06	Each	10.50	\$157.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
10.00	1/2" SXT 90 Elbow	Each	0.60	\$6.00
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
10.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
0.00	Discounce inigation Eabor Rate (per man-nour)	nou	+5.00	\$270.00
	(Subtotal for 25306 Zone #1-2: \$1,145.16 + tax)			
	Clock #25310:			
	Zone #1 - right front and side			
	Relocate 6 sprays to improve coverage. Replace 3- 4" sprays with new 6" sprays to improve coverage. Replace 3- 4" sprays with 12" sprays. Add 3 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
6.00	HUNT PROS-06	Each	10.50	\$63.00
3.00	12" Hunter Spray Body	Each	14.75	\$44.25
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
15.00	1/2" SXT 90 Elbow	Each	0.60	\$9.00
3.00	3/4" PVC Tee	Each	0.87	\$2.61
3.00	3/4" Slip-Fix Coupling	Each	7.95	\$23.85
15.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
6.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$270.00
	Zone #2 - right side and rear			
	Relocate 2 rotors to improve coverage. Add 3 new rotors to improve coverage.			

Proposal: 79037

	- · · · · · · · · · · · · · · · · · · ·		1	
To:	Baycrest Homeowners Association			
3.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$65.85
7.00	3/4" SXT 90 Elbow	Each	0.70	\$4.90
3.00	3/4" PVC Tee	Each	0.87	\$2.61
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
7.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$2.31
130.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$81.90
3.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$135.00
	(Subtotal for 25310 Zone #1-2: \$839.98 + tax)			
	Clock #25312:			
	Zone #1 - left front and side			
	Relocate 6 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to improve coverage. Add 7 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
20.00	Half 10FT Hunter Nozzle	Each	1.60	\$32.00
19.00	1/2" SXT 90 Elbow	Each	0.60	\$11.40
7.00	3/4" PVC Tee	Each	0.87	\$6.09
7.00	3/4" Slip-Fix Coupling	Each	7.95	\$55.65
19.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.80
135.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$85.05
6.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$281.25
	Zone #2 - left side and rear			
	Replace 3 rotors. Relocate 1 rotor. Add 1 new rotor.			
4.00	4" Hunter Adjustable Arc Rotor	Each	21.95	\$87.80
3.00	3/4" SXT 90 Elbow	Each	0.70	\$2.10
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
3.00	3/4" X CLOSE Poly Nipple	Each	0.33	\$0.99
50.00	3/4" Flexible PVC Pipe	Ft.	1.50	\$75.00
2.00	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$90.00
	(Subtotal for 25312 Zone #1-2: \$855.45 + tax)			
	Clock #25241:			
	Zone #1 - left side and by lanai			
	Relocate 3 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
22.00	Half 10FT Hunter Nozzle	Each	1.60	\$35.20
10.00	1/2" SXT 90 Elbow	Each	0.60	\$6.00
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
10.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.00
75.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$47.25
	•			

To:	Baycrest Homeowners Association			
6.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$281.25
	Zone #2 - right side and along drive			
	Relocate 6 sprays to improve coverage. Replace 7- 4" sprays with new 6" sprays to improve coverage. Replace 2- 4" sprays with 12" sprays. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
11.00	HUNT PROS-06	Each	10.50	\$115.50
2.00	12" Hunter Spray Body	Each	14.75	\$29.50
25.00	Half 10FT Hunter Nozzle	Each	1.60	\$40.00
16.00	1/2" SXT 90 Elbow	Each	0.60	\$9.60
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
16.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.20
90.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$56.70
7.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$326.25
	(Subtotal for 25241 Zone #1-2: \$1,168.01 + tax)			
	Clock #25251:			
	Zone #1 - right front and rear			
	Relocate 5 sprays to improve coverage. Replace 4- 4" sprays with new 6" sprays to improve coverage.			
	Add 1 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
22.00	Half 10FT Hunter Nozzle	Each	1.60	\$35.20
11.00	1/2" SXT 90 Elbow	Each	0.60	\$6.60
1.00	3/4" PVC Tee	Each	0.87	\$0.87
1.00	3/4" Slip-Fix Coupling	Each	7.95	\$7.95
11.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$2.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
4.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$202.50
	Zone #2 - left front and side			
	Relocate 2 sprays to improve coverage. Replace 3- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
20.00	Half 10FT Hunter Nozzle	Each	1.60	\$32.00
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
3.50	Discounted Irrigation Labor Rate (per man-hour) Zone #3 - front left and along drive	Hour	45.00	\$157.50
	Relocate 2 sprays to improve coverage.			
	Replace 3- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage.			
	Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
20.00	Half 10FT Hunter Nozzle	Each	1.60	\$32.00
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60

Proposal: 79037

To:	Baycrest Homeowners Association			
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	(Subtotal for 25251 Zone #1-3: \$912.30 + tax)			
	Clock #25257:			
	Zone #1 - right front and side			
	Relocate 8 sprays to improve coverage. Replace 6- 4" sprays with new 6" sprays to improve coverage. Add 4 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
20.00	1/2" SXT 90 Elbow	Each	0.60	\$12.00
4.00	3/4" PVC Tee	Each	0.87	\$3.48
4.00	3/4" Slip-Fix Coupling	Each	7.95	\$31.80
20.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$4.00
100.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$63.00
7.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$337.50
	Zone #2 - left side and rear			
	Relocate 2 sprays to improve coverage.			
	Replace 3- 4" sprays with new 6" sprays to improve coverage. Add 2 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
5.00	HUNT PROS-06	Each	10.50	\$52.50
18.00	Half 10FT Hunter Nozzle	Each	1.60	\$28.80
6.00	1/2" SXT 90 Elbow	Each	0.60	\$3.60
2.00	3/4" PVC Tee	Each	0.87	\$1.74
2.00	3/4" Slip-Fix Coupling	Each	7.95	\$15.90
6.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$1.20
40.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$25.20
3.50	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$157.50
	Zone #3 - rear yard			
	Relocate 7 sprays to improve coverage. Replace 5- 4" sprays with new 6" sprays to improve coverage. Add 5 new 6" sprays to improve coverage. Replace all Van nozzles with Fixed Pattern nozzles.			
10.00	HUNT PROS-06	Each	10.50	\$105.00
21.00	Half 10FT Hunter Nozzle	Each	1.60	\$33.60
19.00	1/2" SXT 90 Elbow	Each	0.60	\$11.40
5.00	3/4" PVC Tee	Each	0.87	\$4.35
5.00	3/4" Slip-Fix Coupling	Each	7.95	\$39.75
19.00	1/2" X CLOSE Poly Nipple	Each	0.20	\$3.80
110.00	1/2" Flexible PVC Pipe	Ft.	0.63	\$69.30
7.25	Discounted Irrigation Labor Rate (per man-hour)	Hour	45.00	\$326.25
	(Subtotal for 25257 Zone #1-3: \$1,465.47 + tax)			

To: Baycrest Homeowners Association

Greenseup	es is not responsible for any damage that may occur to underground utilities (piping, wiring, etc.).	Subtotal:	\$37,276.9
	A 50% deposit is due upon acceptance; Balance due upon completion.	Taxable:	\$19,717.9
	Visa - Mastercard - Discover accepted	Tax:	\$1,183.0
Accepted By:		Total:	\$38,460.0
	Prices good for thirty (30) days from the date of the Proposal		

AH_

MISC

MC

FOR OFFICE USE ONLY

FIELD NOTES: EH_